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UNIT I
UHdnHNTUB
THE INFINITIVE

1. WHdmHuTUB (the Infinitive) - 310 HennuHasa dopma rnarona,
KoTopasi HasblBaeT Aeincteue. MHPUHUTUB SBNSIETCS OCHOBHOM
(v 1) cdopmoli rnarona v npeacTtaBnsieT rnarof B ChoBape.
Mpu3HakoM nHpUHUTUBA aBnsieTcs Yactmua to: to help - nomo-
raTb, to read - untaThb.

B coBpeMEeHHOM aHrIMICKOM si3blke MHMDUHWUTUB UMEET crieayto-

wme dopMbl.
Active Passive
Indefinite to write to be written
Continuous to be writing—
Perfect  to have written to have been written
Perfect Continuous to have been writing —

NHDUMHUTMB B hopMe AeNCTBUTENBHOMO 3asiora 06o3HavaeT aein-
CTBUE, r|p0|/|3Be,qéHHoe JIMLUOM, BbIpaXE€HHbIM B MpeanoXeHnn
noanexawum, a B CTpadaTeNbHOM 3anore - AeWCTBME, Hanpas-
NNEHHOE Ha 3TO 1n1uo.

I like to help. {1 nobnto nomoratsb.
I like to be helped. {1 nobnio, Korga MHe NoMoratoT.

NHduHnTMB B Indefinite Active o603HauyaeT AeicTBUE, He
YTOUHSS Xapaktep ero npotekaHus. NHdpuHutue B Continuous
Active noguépKMBaET ANUTENBHOCTb AENCTBUS.

She likes to write letters. OHa HpaBuTCS NMcaTb NUCbMa.
She must be still writing. OHa, [o/KHO 6bITb, BCE ewwé nu-
LeT.

HenepdeKTHbI MHDUHUTUB BbipaXKaeT AeiCTBUE, OAHOBPEMEH-
HO€ C AENUCTBMEM INarona-ckasyeMoro (Mnu cneaytolee 3a HuM).
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MepdeKTHbIN MHPUHWUTUB BbIpaXXaeT AENCTBUE, NPeALEeCcTBYO-
LLiee AECTBMIO, BbIPaXXEHHOMY r/1arosIoM-CKa3yeMbIM.

I am glad to study at the University. 4 pag, 4to yuych B
yHUBEpCUTETE.

I am glad to have studied at the University. {1 pag, uTto
YUnncs B YHUBEPCUTETE.

OYHKUMN NHOUHNUTWBA/ THE FUNCTIONS OF THE INFINITIVE
B npeanoxeHnnm MHOUHUTMB MOXET ObITb:
a. NMoagnexawmm.

To walk in the garden was very pleasant. I'ynato B cagy
6bIN10 OYEHb NPUATHO.
To read a lot is to know much. MHOro untatb - MHOrO 3HaTb.

b. O6cTroATEenbCTBOM Lenu.

To read the book I went to the reading-hall. YTo6bl npoun-
TaTb 3Ty KHUIY, S MOWEN B YMTASIbHbIN 3a/1.

c. OnpepeneHuneM.
MHDUHNTUB B PyHKLMM OnpeaeneHns NepeBOANTCS Ha PyCCKUi
A3bIK TPEMSI CNOCobamum:

1. MpuaaTouHbIM oNpeaenuTesbHbIM Npeasnoxe-
HUEM C MOAasbHbIM CKa3yeMbIM.

He is going to take part in the conference to be held in
Moscow. OH cobupaeTcst NPUHSTL y4acTue B KOHepeHUMK, Ko-
TOPasi 4O/MKHa COCTOATHECS B MOCKBe.

2. HeonpenenéHHoi chopMoii rnarona.
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I have nothing to say. MHe Heuero ckazare.

3. JinuHoW dopmMoit rnarona, ecnv onpeaenieHne oT-
HOCUTCS K MOPSAKOBOMY YNC/TUTENIbHOMY.

She was the first to come. OHa ripuiLia rnepBoy.
d. QononHeHneM.

He was glad to have been given a new job. OH 6bin pag,
yTO emy [asim HOBYIO paboTy.
I decided to read this book. S pewun rpoyntars 3Ty KHUrY.

e. Yacrbio ckaszyemMoro (4acTto MoAanbHOro).

You may come in. Bol Moxere BouTH.

We ought to leave early in the morning. Mbl gOMKHbLI
yexaTb paHO YTPOM.

My wish /s to read much. Moé xxenaHve - MHOro unTaTb.

KOHCTPYKLUUA FOR-TO-INFINITIVE

[aHHas KOHCTPYKUMA (MHGUHUTMBHLIM 060poT ¢ npeanorom for,
the For-to-Infinitive Construction, obopoT for + cywecTBuTenb-
Hoe (MecToMMeHue) + MHMUHWUTUB) NpeAcTaBnsieT coboi coue-
TaHWe CyLeCTBMTENbHOro B 0bLeM nagexe Win MYHOro MecTo-
UMeHnsl B 0ObEeKTHOM nagexe C WMHOUHUTMBOM MpU MOMOLLM
npeanora for.

Here is the book FOR YOU TO READ.
Bom kHu2a, komopyro eaM Hado npo4Yumams.

Mpu NepeBoge CYLWECTBUTENILHOE UM MECTOMMEHWNE TakKoM KOH-
CTPYKLUMWN CTAHOBUTCS NOANEXALLMM, @ UHDUHUTMB ~CKa3yeMbIM.
NHDUHUTMB Npy 3TOM MOXET YNOTPebNsATLCA Kak B AeACTBU-

TeNbHOM, TaK M B CTpafaTesibHOM 3anore. KOHCTPYKLMIO MOXHO
nepesoanTb: 1) MHPUHUTUBOM, 2) CyeCcTBUTENbHBIM 3) Npuaa-

6
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TOYHbIM NMPEASIOXKEHNEM.

®OYHKLUUN KOHCTPYKLUN B NPEAJTIOXXEHNN

N2 n/n ®YHKLUUA NMPUMEP
1 lNMognerxawee
(yacTo c BBOAHbIM Jif) It is shame for me to
ask. [y1a meHs1 npoCHTh - CTbIAHO.
2 Ckasyemoe The instruction is for the

engineers to follow. UHCTpyKynsa npegHasHayeHa A/is Toro,
YTO6bI MHIXEHEPDI €€ BbINMOJIHSAIIN.

3 Honosnrnenne He waited for her to
speak. OH >kgas, Kkorga OHa 3aroBOpPHT.
4 onpepgenenne The best thing for you

to dois to obey. /lyuwee, yro Bam cnegyer caenars, - Nog4Ym-
HHTBCA.
5 O6¢croaTe/IbCcTBO Yesn He stepped aside for me
to pass. OH oTowes1 B CTOPOHY, YTO6bI 1 CMOI IPOHTH.

6 O6crosiTe/nbCTBO
Pesynbrara He spoke loud enough
for you to hear. On roBopmns1 JOCTaTOYHO rPOMKO, YTO6bI BbI
MOIJIN C/IbILLIATb.

EXERCISES

Exercise 1. Translate the following sentences into
Russian. Define the function of the Infinitives.

1) To explain this simple fact is not so very easy. 2) We are
to study the main laws of physics. 3) The author was to read a pa-
per at the conference. 4) The next step will be to produce a dia-
gram of the system. 5) Glass which is to be used for lenses must be
almost colourless. 6) The exact level is hard to calculate. 7) The
books by Pawling are interesting to read. 8) The experimental re-
sults are few and not easy to interpret. 9) He must have found out
about the conference from the newspaper. 10) The explosion must
have occurred long ago. 11) There are some other properties of
water to be considered at this point. 12) There is a particular ques-
tion to be discussed at length. 13) There will be six independent el-
ements to be determined. 14) There is not very much experimental
data on which to base a decision between these two possibilities.
15) The amount of polonium to be obtained from a uranium mineral

7
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can be simply calculated. 16) I was not able to write my test. It
proved to be too difficult.

Exercise 2. Open the brackets and choose the Infin-
itive in the Active or Passive Voice.

1. They are glad (invite / be invited) to the party.
2. I don't like (interrupt / be interrupted).
3. He will be happy (see/ be seen) you.
4. I was glad (meet/be met) at the station.
5. Children like (tell/be told) tales and always (listen/ be lis-
tened) to them with interest.
6. Idid not think (interrupt/ be interrupted) you.
7. He is glad (send/be sent) abroad.
8. He likes (ask/be asked) his professor questions.
9. He does not like (ask/ be asked) questions because he does
not know how to answer them.
10.Be careful with him. He is a very resentful person. He can't
bear (joke/be joked at).
11.He does not like (laugh/be laughed) at other people.
12. Look, a ship can (see/be seen) in the distance. Can you (see/
be seen) it?
Exercise 3. Change the sentences according to the
examples.

A

Example: It is simple to solve this problem. — This problem
is simple to solve.
It is difficult to speak to such people. — Such people are difficult

to speak to.
1. It is expensive to buy a mink coat.
2. It is impossible to get a good dinner in our can-
teen.
3. It was difficult to start an engine in such cold
weather.
4, It is dangerous to stand on this ladder.
5. It is rather difficult to deal with stubborn people.
B

Example: He came to the party the last. — He was the last
to come to the party.
1. He is the only one among us who gave up

8
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smoking.
2. I was the next who spoke on the topic.
3. He was the first who raised this question.
4, She was the second who got an excellent
mark.
5. Paul was the last who greeted me.
C

Example: It was the best time when she could find them at
home. — It was the best time for her to find them at home.

1. Here is a simple English book that you can
read.

2. The first thing they must do when they ar-
rive is to phone home.

3. This is a problem you should solve by
yourself.

4, There is nothing that we can add.

5. These are children you can play with.
READING

Exercise 4. Read Text A. Define the forms
and functions of the underlined infinitives. Explain the
cases when the infinitives are used without particle “to”.

Text A

DRAGLINE EXCAVATOR

Dragline excavation systems are heavy equipment used in
civil engineering and surface mining. In civil engineering the
smaller types are used for road and port construction. The larger
types are used in strip-mining operations to move overburden
(soil layers) above coal. Draglines are amongst the largest mobile
equipment, and weigh in the vicinity of 2000 metric tonnes,
though specimens weighing up to 13,000 metric tones have also
been constructed.

A dragline bucket system consists of a large bucket which
is suspended from a boom (a large truss-like structure) with wire
ropes. The bucket is manoeuvred by means of a number of ropes
and chains. The hoist rope, powered by large diesel or electric
motors, supports the bucket and hoist coupler assembly from the
boom. The drag rope is used to draw the bucket assembly hori-
zontally. By skillful manoeuvre of the hoist and the drag ropes

9
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the bucket is controlled for various operations. In a typical cycle
of excavation, the bucket is positioned above the material to be
excavated. The bucket is then lowered and the drag rope is then
drawn so that the bucket is dragged along the surface of the ma-
terial. The bucket is then lifted by using the hoist rope. A swing
operation is then performed to move the bucket to the place
where the material is to be dumped. The drag rope is then re-
leased causing the bucket to tilt and empty. This is called a dump
operation.

The bucket can also be ‘thrown’ by winding up to the jib
and then releasing a clutch on the drag cable. This would then
swing the bucket like a pendulum. Once the bucket had passed
the vertical, the hoist cable would be released thus throwing the
bucket. On smaller draglines, a skilled operator could make the
bucket_land about one-half the length of the jib further away
than if it had just been dropped. On larger draglines, only a few
extra metres may be reached. Draglines have different cutting
sequences. The first is the side cast method using offset benches
(Teppaca, yctyn) this involves throwing the overburden sideways
onto blasted material to make a bench. The second is a key pass.
This pass cuts at the toe of the new high wall and also shifts the
bench further towards the low wall. This may also require a chop
pass if the wall is blocky. A chop pass involves the bucket being
dropped down onto an angled highwall to scale the surface. The
next sequence is the slowest operation. However, this pass
moves most of the material. It involves the access to bottom of
the material to lift it up to an elevated bench level. The final cut
if required is a pull back, pulling material back further to the low-
wall side.

The primary limitations of draglines are their boom height
and boom length, which limit where the dragline can dump the
waste material. Another primary limitation is their dig depth,
which is limited by the length of rope the dragline can utilize. A
dragline is most efficient excavating material below the level of
its base. While a dragline can dig above itself, it does so ineffi-
ciently and is not suitable to load piled up material (as a rope
shovel can).

Despite their limitations, and their extremely high capital
cost, draglines remain popular with many mines, due to their re-
liability, and extremely low waste removal cost.

Exercise 5. Answer the following questions:
10
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. What types of draglines are used for road construction?
. What does a dragline bucket system consist of?
. What means is the bucket manoeuvred by?
. How is the typical cycle of excavation performed?
. How many cutting sequences do draglines have?
. What are the primary limitations of draglines?
. Why do draglines remain popular?

Exercise 6. Translate the following sentences pay-
ing attention to the

infinitives:

1. The frame may have fuel and hydraulic fluid tanks.

2. The overhead guard helps to protect the operator from
falling

objects.

3. Pole attachments are used to lift rolls.

4. The tilt provides an ability to operate on non-level
ground.

5. While steering, it is unnecessary to apply steering force
to maintain

a constant rate of turn.

6. To combine the gravitational and centrifugal forces
means to

produce a tip-over accident.

7. A forklift should not be used as a personnel lift.

8. The most common task of a telescopic handler is to
move the

loads.

Exercise 7. Translate the following sentences pay-
ing attention to the

infinitive constructions:

1. This attachment enables the operator to move the forks.

2. As the boom extends it causes the vehicle to become

increasingly unstable.

3. A loader is known to be a heavy equipment machine of-

NoOuUuTh WN =

ten

used in construction.

4. Draglines are considered to be the largest mobile
equipment.

5. UDD is claimed to represent the first fundamental
change to

draglines for almost a century.
6. Two hoist and one drag ropes permit the operator to

11
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have
better control.

Exercise 8. A) Translate the text B paying attention
to the infinitives:

B) Define the tense form of the predicates.

Text B

DRAGLINE EXAMPLES

The coal mining dragline known as Big Muskie, owned by
the Central Ohio Coal Company (a division of American Electric
Power), was the world’s largest mobile earth-moving machine,
weighing nearly 13,000

metric tons and standing nearly 22 stories tall. It operated
in Guernsey County, in the US state of Ohio from 1969 to 1991,
and was powered by 13,800 volts of electricity.

The British firm of Ransomes & Rapier produced a few
large (1400—- 1800 ton) excavators, the largest in Europe at the
time (1960s). Power was from internal combustion engines driv-
ing electric generators. One, named Sundew, was used in a quar-
ry from 1957 to 1974. After its working life at the first site in Rut-
land was finished it walked 13 miles to a new life at Corby; the
walk took 9 weeks.

Smaller draglines were also commonly used before hydrau-
lic excavators came into common use, the smaller draglines are
now rarely used other than on river and gravel pit works. The
small machines were of a mechanical drive with clutches. Firms
such as Ruston and Bucyrus made models such as the RB10
which were popular for small building works and drainage work.
Several of these can still be seen in the English Fens of Cam-
bridgeshire, Lincolnshire and parts of Norfolk. Ruston’s is a com-
pany also associated with drainage pumping engines. Electric
drive systems were only used on the larger mining machines,
most modern machines use a diesel-hydraulic drive, as machines
are seldom in one location long enough to justify the cost of in-
stalling a substation and supply cables.

Notes:

pit — aMa, WwaxTa, Kapbep

justify — onpaBabiBaTb

substation — noacraHums

12
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UNIT II

COMPLEXES WITH THE INFINITIVE

1. CnoxHoe gonosiHeHue \ O6beKTHbI nagex
C UIHPUHUTUBOM

Complex Object | The Accusative with the Infinitive

CnoxHoe AonofiHeHWe, COCTOUT U3 CyLYecTBHMTE/Ib-
HOIo Vv JIMYHOro MECTOMMEHHSI B 0ObEKTHOM Majexe
(me, him, her, us, you, them) n #rHgpnHuTHBA, W YnoTpeb-
NSeTCA NUWb MOCAe NarosioB, BblPaXXaloWMX XenaHue,
BOCMpUSTUE, NPEANONIOXKEHNE, NPpMKa3aHMe, NpocLoy.

CywecrBu- Un-
TenbHoe /[ Me-
¢huHnTHB
CTOMMEHMe

B npennoxeHnn oH, Kak U MOMNOXEHO [OMOSHEHUIO,
3aHMMaET TpeTbe MECTO, TO €CTb pacnonaraeTcd 3a CKa3ye-

MbIM.

(1) (2) (3) (4)
MNMoanexatlee + Ckasyemoe + o6opor
"cnoxxHoe gonosiHeHme" +  BTopocTeneHHble YneHbl Npeano-

XeHnd

a) Ecam uHbuHUTMB ynoTp. B ¢dopme Active, TO OH
BblpaXxaeT AeiCTBUE, COBEPLLAEMOE NINLIOM MU NPEaMETOM,
0603HaY€eHHbIM CYLLECTB. / MECTOMMEHMEM, KOTOPOE CTOUT
nepen UHPUHUTUBOM.

6) A ecnM caM MHMPUHWUTUB CTOMT B CTpadaTeslbHOM
3anore (Passive), To OH BblpaXaeT AeNCTBME Hafd 3TUM Nu-
LoM / NpeaMeToM.

Tak CTpOWUTCS aHrMINCKOe NPeANoXeHWe, korga B
HeM XOTAT nepedaTh Cpa3y ABa pa3Hblx 06bekTa/cybbekTa n
[Ba pasHblX AenctBusl. Ha pycckuii Si3blk B 60SbLIMHCTBE
C/llyd4aeB MEpeBOAMTCS  MPUAATOYHBIM  AOMOMHUTENbHBIM
NpeanoXXeHeM C COI03aMn YTo6bI; YTO; KaK.

OaHako He BCSKWIA aHrnuiickui rnaron (2) Moxer
npvHUMaTb nocne cebs CnoXHoe AonosnHeHne. HyXxHo
WUMETb B BUAY YTO:

1. TakoW rnaron fo/mKeH 6blTb NEPEXOAHbIM;

2. CNncoK 3TUX NepexofHbIX rnaronoB CTporo orpa-
HUYEH;

13
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3. Jaxe Te rnarosbl, YTO BXOAAT B 3TOT CMMUCOK, Ae-
NSTCA Ha Te, KOTopble MPUHUMAIOT MHMUHUTUB C YacTuLen
to 1 Te, KOTOpblE NPUHMMAIOT MHPUHUTUB 6e3 YacTuubl to.

Mocne 3TMX rnaronoB B KOHCTpyKumn "CnoxHoe fao-
nosiHeHne" BTOpast YacTb MOXET 6biTb BblpaXkeHa MHUHU-
TMBOM WK xe npuyactvem I. Otiunume:

MHpmHnTMB OobpallaeT Hawe BHMMaHWe Ha caM dakT
AENCTBNS 1 €ro 3aBepLUEHHOCTb.

MpuyacTue ykasbiBaeT Ha €ro ANUTeNbHOCTb (AeicTBUE B
€ro pasBuUTUN), HE3ABEPLLEHHOCTb.

Hanpumep:

(uHdmHMTUB) I saw him cross the street. 5 Buges, kax on
nepewesn yiaLy.

(npnyacture) I saw him crossing the street. A Buges, kak
OH riepexoan1 yimLly.

MpaBaa, ecnv caM rnaron BblpaXKaeT AeWUCTBUE AJU-
TEbHOMO XapakTepa, TO 3TO pa3nMyne He TaK 3aMeTHO U
nepegaTtb €ro CpeacTBaMM PycCKOro sA3blka Mpu nepeBoae
He ypaeTca. [ns o0603HadeHus psga nocnefoBaTesbHbIX
AENCTBUIN yNnoTpebnsieTcsl TONbKO MHUHUTUB.

Cno)kHoe fonoJiHeHne ynorpeénsercs:

NHpmHMTUB € yacTuuein to:

1 . Mocne rnaronos, BblpaXkaloWWX IKe/IaHHE, YyB-
CTBa, HAMEPEHHE:

to desire — xenarp to prefer - npegroun-
to hate - wHeHaBugers 7a7h
to like - smobuts, Hpa- to want - xorers
BUTHCS to wish - xxenrars

to dislike — He HpaBuTbCs would/should like — xe-
to love — s1r06uTH /1aTh

I hate her to use these words. M+e He HpasuTcs (5

HEHaBWXy), YTO OHa MCIOJIb3YET TaKUE C/I0BA.
I don't like them to do it. MHe He HpaBuTcs, 4To

(KaK) OHHM genaror 370.

I want you to come back. (pasr.: I want you back.) (5) Xouy,
YT06bI ThI BEPHYJ/IACh.

She wanted them to read that book. @ Owa xoresa, yrobsr
OHM TIPOYJIN STY KHIDKKY.

I wish you to be happy. (A) Xenaro, 4T06bI THI
6b1/T CHaCT/INB.

NHPUHWTUB B CTpaaaTe/lbHOM 3anore:
I want you to be remembered. A xo4y, 4yTO6BI TE651 3aITOMHNIINA.
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I should like us to be invited A xoresi 6bl, 4TO6bI HAac
to the conference. TMIPUITIACHITN H3 KOHDEDEHLMIO.
2. [ocne rnarofioB, BbIpaXaloWWUX YMCTBEHHYIO
AeaTesIbHOCTh. B 3ToV ponu Hag BCEMW 3TUMU Naronamm
BUTaeT obllee 3HaueHwe — moJiararb, MPE[NoJarars,
cymtars. [ocne rnaronos 3to rpynnbl (kpoMme to expect)
yalle BCero ynotpebnsieTcst MHbVMHUTUB rnarona to be:

to believe — nonarare to know — 3Harb

to consider — cunrars to remember — rom-
to declare — 3asBag7p HUTD

to expect — oxwmgars to suppose - rnosna-
to find — obHapyxuBate ramp

to think — gymars
to understand — r0-
HUMAETb
We know heat to be a form of energy. Mbl 3HaeM, UTO Tensao
— 3T0 popMa SHepruu.
I expect him to ask that question. A oxufgaro, 4TO OH 3a-
A4acr 370T BOrpoc.

Mpunuyem nocne rnaronos to consider, to declare, to
find, to prove uHGUHMTKB, 0603HaYeHHbIN rnaronom to be,
4acTo ornycKaeTcs:

I consider him (to be) wrong. A cuntaro, 4To OH He
npas.

They declared him (to be) the winner.  Oww 06BsB11/111 €ro
rnobeauresiem.

3. [llocne rnaronos, BblpaXkalowWwnx MmobyxaeHne
(npuka3s, npocbby, paspelueHue, npeaynpexaeHue). Yacro
nopsAoK COB aHMIMACKOro MpeanoXeHus ¢ STUM 060poTOM
MOMHOCTbLIO COBMaZaeT C NOPSIAKOM ClOB PYCCKOro BapuaHTa
3TOro NpeasoXeHns:

to advise - coseroBars to order - npukaszbiBate

to allow - no3sonsaTe to permit - paspewars

to ask — npocuts to recommend — pexkomer-
to command - rpukazbiBars A0Bartk

to force - npuHyxgaTe to request - npocute

to get — ¢genarb Tak, 4yrobkI to tell — Besrers

to warn — ripegyripexaars
The teacher allowed us to use dictionaries. Yuuresns rnozBo-
/1 HaM 10J1b30BaTbCsl C/I0BAPSIMH.
I ask you not to be late this time. A nipoluy Bac He
ornasgbiBarTb Ha 3TOT Pas.
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I'll get her to come. A 3acras/io ee
npuaTH. (S che1ar0 TaK, YToObl OHa MpuLL/IA.)
The doctor told me to stay in bed. Bpay Besies1 MHe

OCTaBaTbCA B 110CTE/M.
Ecim nnuo, Ha KOTOpoe HampasfieHO MpuKasaHue
/pa3pelleHne, He yKasbIBaeTCs, TO UCMONb3yeTcsa Passive:
She allowed the car to be taken away. Owa paspeimna,
YTO6BI MALWKMHY yOpPasIn C 3TOro Mecra.
NHpmHnTHB 6€3 yacTuubl to:
1 MNocne rnaronos: to make B 3HauyeHun — 3acras-
71976, BbIHYXAare, to let — paspewars, nozsosare. NMpuyem
O6bEKTHBIN MHMUHUTUBHBIA 060pOT MEPEBOANUTCS HE A0-
NOSTHUTENbHLIM NPUAATOYHBIM MpPeanoXKeHNEM, a Heonpeae-
NEHHbIM rnarosioM (CoBrnagast C PyCCKOM KOHCTPYKUMEN):

They made her come. OHu 3acTaBu/iv ee npmi-
™.

What makes you think so? Yro 3acrasnser rebs gy-
Marb T7aK?

Let me know when you are ready. fJa/# MHe 3HaTb, Korja 6y-
JIELLIb [OTOB.

Let me see! Havite (MHe) nogymars!

2 [locne rnaronoBs, BblpaXkaloWnX BOCIpUSTHE NPU
noMowwn opraHos 4yBcrB. Kak npasuno, nepeeBoasTcs
rnarojiaMm CcoBepLleHHOro snaa:

to feel - wyBcTBOBaTL to observe - Habso-
to hear - cbiwars Aarb
to notice — 3amevars to see - Bugers

to watch — Habnrogarte
I felt somebody touch my shoulder. 5 mouyscrsoBasn, Kax
KTO-TO KOCHYJICS MOEIO 11/1€Ya.

I never saw him cry. A HuKorAa He BUAeEn,
YTO06ObI OH IJ1IaKal.

We watched the train arrive. Mbi Habsrogamm, Kak
nogowes noesy.

Mpumeuanumel: Ecnmn rnaron to see ynotpebnsercs
B 3HAYEHWUKN r10HMMaTk, a rnaron to hear B 3HaueHWn y3Ha-
BaTk (TO eCTb He BbipaXkaloT (hM3noornyeckme 4yBcTaea), To
B 3TUX C/lyYasix OHWM HE MPUHMMAIOT C/TOXKHBIX AOMOSTHEHWH,
N BO3MOXHO JILLb MOCTPOeHMe 06bIYHOMO AOMONMHUTENBHOMO
NPMAATOMHOrO NPeanOXeHUs:
Nick saw Ann enter the hotel. Huk Buges, 4yro AH-
Ha BoLuJ1a B roCTyHULLY.
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I see that you read this book. A Buky (rioHUMaro),
YTO Bbl YUTASIN ITY KHUTY.
Mpumeuanume 2: Maron to feel moxer uMeTb 3Ha-
YeHue CcYuTaTe/nosiarate, B 3TOM cC/lydae 060poT TOXe
MOXXHO MCMO/b30BaTb, HO YXe C YacTuuei to:
He felt them to come back soon. Ow yyBcTBOBas/MONarasn,
YTO OHM BEPHYTHCSA CKOPO.

EXERCISES

Exercise 1. Open the brackets and use the Complex
Object.

Example: He expected ( they, arrive) at 5. — He expected
them to arrive at 5.

Do you want (they, stay) at the hotel or with us?

I'd like ( the professor, look through) my report.

Do you want (I, show) you the sights of the city?

We expect (he, arrange) everything by the time we come.
I want ( she, tell) me the news in brief.

He expected (the meeting, hold) in the Red Room.

I would like (they, fix) an appointment for me for Tuesday.
We want (she, introduce) us the president.

. I don't want (thay, be late) for dinner.

10 He expected (she, invite) to party by the Smiths.

11.1'd like (the dress, buy) by Saturday.

12.I don't want (she, treat) like Alice.

13.We considered (he, be) an honest person.

14.1 don't like (she, prevent) me from doing it.

15.1 suspect (he, help) by her.

CONOUTAWNE

Exprcise 2. Combine the sentences using the Com-
plex Object.

Example: I did not see him. He entered the house. —
I did not see him enter the house.
I saw him. He was entering the house. —
I saw him entering the house.

=

They did not notice us. We passed by.
He heard her. She was playing the piano.

3. He saw her. She burst into tears.
17
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4, I felt her hand. It was shaking.

5. He hasn't heard us. We called his name.

6. They haven't seen the accident. It occurred at
the corner.

7. I heard them. They were arguing.

8. She heard the footsteps. They were dying
away.

9. She felt something. It was crawling around her
neck.

10.We many times heard him. He told this story.

11.She noticed the expression of his face. It changed suddenly.
12.I heard somebody. He mentioned my name

13.1 felt something hard. It hurt my leg.

Exercise 3. Change complex sentences into sen-

tences with the Complex Object.

WLONOUITAWNE

I did not expect that she would forget about my birthday.
She saw how the children were playing in the park.

Do you know that he went abroad two days ago?

I like to watch how she dances.

She could hardly believe that he had been rescued.

He expects that everybody will be ready to do this work.
I don't like when the children are late for dinner.

Don't consider that he is a hero. He is an ordinary man.
I've heard how he was arguing with his father.

10 I suspect that he has taken my money.

11.She likes to watch how the sun sets.

12.1 hate when people shout at each other.
13.They suppose that he will cope with this work.
14.I've heard how she was crying.

15.We expect that he will solve this problem soon.

Exercise 4. Open the brackets and use the proper

form of the Complex Object.

go.

nmhwnNa =

Where is Nick — I saw (he, talk) to Kate a few minutes

Parents always want (their children, be) the best.

I wouldn't like (such valuable presents, give) to me.
I noticed (he, write) something and (pass) it to Alice.
We suppose (they, apologize) to us.
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She watched (the stars, sparkle) in the dark sky.
I did not expect (he, behave) in such a way.

We don't want (our planet, pollute).

I heard (he, work) in his study at night.

0 They expected (he, buy) a more expensive car.

500N o

READING

Exercise 5. Read and translate the Text

A. Define the forms of Complex Object.

Text A

Factors of Production: Natural Resources and Land
Economists consider natural resources to be the third factor of
production. They are a contribution to productive activity made
by land (for example, a factory site or farm location), raw ma-
terials such as iron ore, timber, oil, water for crops and power
production, forests and animals.

Some natural resources, wheat, for example, are renewable,
others such as iron ore are non-renewable and will sooner or
later be used up. Economists know reduced supplies of non-
renewable resources to result in their higher prices, which pro-
vides an incentive to look for natural or synthetic substitutes
for them.

The supply of land, an essential natural resource, is limited
and it cannot be easily increased to meet an increase in de-
mand except in certain cases. For example, the Dutch have
been able to reclaim from the sea some areas of low-lying
land.

Another essential characteristic of land is that it is durable, that
is, land is not used up in the production process, although it may
be depleted by use.

Land is, in some respects, close to physical capital, though the
former is supplied by nature and the latter is produced by man.
But applying labour to kill weeds or fertiliser to improve the sail,
farmers can "produce" better land and raise its price.

Price of or income from land, as well as from other natural re-
sources, is called rent. Land itself has no cost of production, so
rent depends on the degree of scarcity and on the demand for it.

The purposes for which land is used are due to its characteris-
19
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tics. Land can be used for housing or offices, for mining, or for
building roads. Besides, it contributes to the production of crops,
providing an environment that supplies water, air, and nutrients
for plant growth.

Land is a unique agricultural resource, so a lot of management
problems arise. In the first place, the farmer has to make a
choice between buying and leasing it. The advantages and dis-
advantages depend on the farmer's financial position, on the
availability of land for lease and purchase and some other fac-
tors.

Because purchasing land usually requires a larger capital, farm-
ers with limited capital lease land and use their capital for ma-
chinery and other resources.

Economists consider a satisfactory lease to be the one that is
profitable both for the landowner and the tenant. A fair lease
compensates both parties in proportion to their contributions to
the farm business.

Other management problems may arise due to differences in
land profitability in various farming branches and other indus-
tries. Economists know different crops and classes of animals to
vary in profitability. The farmer has to study thoroughly the con-
ditions on his farm to make a correct choice between alternative
uses.

Although the total supply of land is limited, its allocation between
industries is not. If a government wants to stimulate, for exam-
ple, either housing or afforestation, it offers a subsidy raising the
rent received by owners of housing land or forests. This may
create incentives for farmers to transfer land from farming to
other industries.

Exercise 6. Translate the sentences paying
attention to the Complexes with the Infinitive

1. We know many newly industrialized countries to have
weak trade unions.

2. The developing countries want the rich countries to stop
imposing tariffs on imports from the Third World.

3. Economists consider land to be the factor of production
supplied by nature.
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4. As the prices of fuels rise, we expect their production to
expand.

5. Some businessmen think trade union regulations to re-
sult in fewer jobs.

6. A rise in the price of a unit of labour will make the firm
start using a more capital-intensive technology (kanuTtanoemkas
TEXHOsIorns).

7. Higher prices for oil make research laboratories work at
substitutes for ail.

8. The command economy does not let an individual make
free economic decisions.

9. Increased output per worker in agriculture lets more
workers be transferred from agriculture to industry.

10.Allocation of additional capital lets a high level of pro-
duction be maintained with fewer workers.

Exercise 7. A) Translate the text A paying attention
to the infinitives:

B) Choose an appropriate verb given below to
complete the spaces in the text. The first has been done

for you.
negotiate take place go deal act be dispersed
drop hand ignore negotiate award
Text B

Owners Can't Ignore Union
New York (CNN money)
One of the most influential figures in modern
professional sports says he fully expects baseball (1) to field 30
teams next year, and not (2) ... ahead with plans announced this
week (3) ... two teams.

"I say it as an illustration of again how foolishly the owners
seem (4)..., said Marvin Miller about the contraction plans an-
nounced by major league owners this week. "The notion that you
can just (5) ... the union is foolish, and becomes more foolish
each time they do it."

Love him or hate him, Miller is someone who is tough (6)...
when talking about labor relations in baseball in general and U.S.
sports as a whole.

Before Miller, owners could and did ignore players' wishes.
They would refuse (7)... with players’ agents, or (8)... multiyear
contracts.

The owners have apparently come up with a new theory of
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how (9) ... with the players union — if you can't beat them, pre-
tend they're not there. They tried (10)... the union their first de-
feat in the lifetime of most players by simply announcing the uni-
lateral action.

Commissioner Bud Selig admitted that management would
have (11)... with the union how the players with the two yet-
unnamed franchises will (12)..., but not about whether contrac-
tion would (13)....

Exercise 8. Read the sentences from "The Econo-
mist" advertisements, underline examples of verb + ob-
ject + infinitive or verb in the Passive + infinitive con-
structions and place them in the appropriate column in
the box below. Translate the sentences into Russian.

1. The Treasury Select Committee of the House of Com-
mons is seeking a Committee Specialist to assist with the inquir-
ies.

2. Candidates will be expected to have a broad under-
standing of the whole range of the Government's economic
agenda.

3. Strict impartiality is required and the person appointed
will be expected not to engage in political activities for the dura-
tion of the appointment.

4. "Local Voices" is designed to support professional
broadcasters in creating high-quality coverage of AIDS issues for
their audiences.

5. We are looking to you to strengthen our efforts by
providing a first rate national and international policy research
and advisory service to Director General.

6. Due to the nature of the work, the successful applicant
will be required to complete security clearance.

7. The Institute of Management and Computer Sciences is
searching for an outstanding individual possessing a doctoral de-
gree in management sciences area to head its management sci-
ences stream.

8. He/she would be expected to provide leadership to build
the Institute's management sciences track into a leading business
program in Pakistan.

9. The institute is being planned to be elevated to the sta-
tus of a university. 10. Following assessment of the Expressions
of Interest, the Shell company will invite short-listed applicants to
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submit full technical and commercial proposals.

Verb + object + infinitive ~ Verb in the Passive + infinitive

Exercise 9. Translate the following sentences.

A)
1. 4 xou4y, 4yTobbI THI MPOCMOTPENA 3TK NMCbMa. 2. Mbl HE OXMU-
[anun, YTO OH COrnacuTcsl C HUMK. 3. MHe bbl X0Tenock, YTobbI Bbl
6b11M roToBbI Yepe3 vac. 4. YTo 3acTaBWUIO ero nepeexaTb Ha
HOBYIO KBapTupy? 5. MHTepecHo, 4To ero Tak paccepamno? 6. 4
HWKOrAa He Criblwar, 4Tobbl OH roBopun Henpasay. 7. HMKTo He
3aMETUJ1, YTO S OTKPbIZT ABEPb U Bbilwes. 8. OH xo4eT, 4YTobbl Bbl
eMy nomornu. 9. OHa nonpocuna AHH nokasaTb el nucbMa. 10. S
roJsiarato, YTo OHU paHblUEe CeayOLEN NATHULBI HE BEPHYTCS.
11. Bce cumTaloT ero CnocobHbIM XyaoXKHUKOM. 12. OH Benen
MOMOLLIHUKY BCE NpUroToBuTb. 13. Tebe 6bl X0TeNoCb, YTOObLI OHM
nepeaymann? 14. OHW He oXuaanu, 4To noroga uamMeHuTcs. 15.
Tbl HE X0Y€eLlb, YTObbI 3TO 6bISI0 3a6bITO? 16. XOTUTE NN BbI,
4TO6bl MX MO3HAKOMWUIK C Bamu? 17. Bawa UCTOPUS MEHSI OYEHb
oropyuna. 18. 3Ta HOBOCTb cAenasna MeHs COBCEM CHACT/IMBBIM.
19. 4 xo4y, 4TO6bI BbI MO3HAKOMUANCE C MOMM 6paToM. 20. OH
Xo4yeT, 4Tobbl S noexan B JIOHAOH Ha AHAX.

Exercise 10. Paraphrase the following using com-
plex objects with the Infinitive.

Example: She watched how he went She watched him go.

1. He heard how one of the girls in the shop addressed
Jane.

2. She saw that the door of the sitting-room opened and her
mother enered.

3. She smiled when she heard, how he locked the door loud-
ly.

4, Jack watched how Eliza learn then he walked slowly down
the holl to his fathers room.

5. I've never heard how he spoke of this life in Canada.

6. Don't let the child do it: the child shouldn't play alone in
the courtyard.

7. The teacher made it so: his pupils did their exercise
again.
8. I helped the woman: she got out of the taxicab.
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9. The man told the dog: it had to lie.
10.The news made it: I cried out for joy.
11.They considered the idea: it was worthy of attention.

2. CnoxHoe nognexaulee /IMeHMTeNbHbIM Nagex
C UIHPUHUTUBOM

COMPLEX SUBJECT /THE NOMINATIVE WITH THE
INFINITIVE

Cno)xxHoe nopnexawjee, CoCToMT U3 CyLYecTBH-
TE€/IbHOIro Vi JINYHOro0 MECTOMMEHHSI B UMEHNTENBHOM
naaexe u MHEMHNUTHBA, 0603HaYaIOLLErO AENCTBME.

3Ta KOHCTPYKUMS pa3genieHa Ha ABe 4acTu raronom-
CKasyeMbIM B JIMYHON pOpMe, NpMyeM NOCNeaHuin yalle uc-
Nnosib3yeTca B CTpajaTenbHOM 3anore.

CnoxxHoe nopgJsiexatiee

v v
CywecrButenibHOe
U JIM4HOE MecTo- naron -ckasyemoe UHdMHNTUB

nMeHue

Cyb6beKTHbIN UHDUHUTUBHBLIN 060POT NpeacTaBnsieT
Co6ON c/10)KHOE roag/ie)kaujee V Ha PycCKU s3blK nepe-
BOAWTCS C/IOXKHOMNOAYMHEHHBIM NPEANOXEHNEM C BBOAHbLIMU
CnoBaMu (KaK U3BECTHO, O-BUAUMOMY VI TIP.)

Cnuncok rnaronoB-ckasyeMblX, CrMOCOBHbIX MPUHATH
CNIOXHOe noanexallee 3aecb 6onee orpaHuyeH, U He Bce
rnaronbl M3 Mpeablaywero CUHTaKCMYeCcKoro KoMIieKkca
(06BEKTHBIN MHUHUTUBHBI 060POT) BXOASIT B HErO.

Cnyuyamu ynotpebneHuns oboporta

C rnarosioM-cka3yeMbiM B CTpapaTesibHOM 3a-
nore (Passive):

BcnoMHuM, uto BCce popMbl Passive obpasytoTca npu
noMoLn BcrnomoratensHoro rnarona to be (am, is, are,
was, were...) 1 III-eii dopmbl rnarona (-ed dopma).

1 C rnaronamn coobuyerumss. O60poTbl C STUMKU CNO-
BAMW XapaKTepHbl ANs ra3eT U TeNeHOBOCTEMN, Koraa UCTOY-
HUK WMH(OPMaLMN HEM3BECTEH, HE BaXEH W/ ero CKpbliBa-
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tOT.
(to announce) is/are/was/were announced — 3a58-
JIS0T, co06Lyanm,
(to describe) is/are/was/were described - ormcwiBa-
10T, M306paxaror,
(to report) is/are/was/were reported - coobiyarot,
coobLyarsnoce,
(to say) is/are/was/were said - roBopsT, rosopwin,
(to state) is/are/was/were stated - kax ykaswiBaroT,
3a8B/1/M M [p.
She was announced to be the winner. bBb1/10 06bSB/IEHO,
YTO OHa 106e4//1a.
They are reported to arrive in two days. Coobuyaror, 4ro
OHH NIPNOYRYT Yepes ABa AHA.
He is said to be very ill. [0BOpSIT, 4TO OH
OYEHb OOJIEH.
2 C rnaronamu msiwiieHmss (MHeHWe, npeanonoxe-
HWe, Hagexaa):
(to believe) is/are/was/were believed - ronararor,
CYUTAIOT, BEPST,
(to consider) is/are/was/were considered — rosara-
0T, riosarasna,
(to expect) is/are/was/were expected - rrosaraorT,
OXnfgasu,
(to know) is/are/was/were known - Kak 13BECTHO,
U3BECTHO, 3Ha/M,
(to suppose) is/are/was/were supposed - ripesrio/ia-
raror, r1ofaarasm,
(to think) is/are/was/were thought - gymaror, nona-
ramm,
(to understand) is/are/was/were understood- cuu-
TAETCs, CYUTANN...A Ap.
She is considered to be the best singer. Ee cuuraror camori
Jiyyies nesuled, = CY4uTaeTcs, YTO OHa Jiy4Luasi rnesuLa.

He is known to be a good writer. V3BECTHO, YTO OH XO-
poLmi nucaTesiv.

I was supposed to meet him. lpegrionarasiocs, 410
A BCTpeyy €ro.

3 C rnaronamn 4yBCTBEHHOI0 BOCTIPUSITHS.
(to hear) is/are/was/were heard — cibiLHO, Cibiwany,
(to see) is/are/was/were seen - Hab/1104ar0T, BHAEM, N OP.
Birds were heard to sing in the garden. bsi10 crbiiHo, Kax
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nTHYbI MOOT B Cajy.
He was seen to enter the house. Bugenv, kak OoH BXo-
AN B [IOM.
Mocne ckasyeMoro B CTpafaTenbHOM 3as0re caMm
MHMUHUTUB MOXET YNOoTPebNsSTLCS B pa3/iMyHbIX (hopMax:

He is reported to be writing CoobuyaroT, 4TO OH NMULIET

a new novel. (Continuous Infinitive) HOBBIV POMaH.

He is said to have returned at last. [0BOpSIT, 4TO OH HaKOHEL
(Perfect Infinitive) BEPHYJICS.

Mpumeuanume: C rnaronamn nobyxpaeHns (npvika-
3aHue, npocbba, paspeleHne) cybbeKTHbIN UHDVMHWUTUBHBIW
obopor He o6bpasyerca. VIHPUHWTMB 34eCb BbIMOSHSET
ponb NMPsSIMOro AOMOJSIHEHMS, a nepeBos 06bIMHO CoBnagaeT
C NOPSAKOM C/IOB PYCCKOr0O BapuaHTa 3TOr0 NPeoXeHus:

(to allow) is/are/was/were allowed — r70380/15/0T, 1o380/11/14,
(to ask) is/are/was/were asked - ocsegomnsorcs, TpeboBasy,
(to make) is/are/was/were made — 3acras/is0T, 3acTasuiv,

(to order) is/are/was/were ordered — rpukasebiBaroT,
MIPUK33a/,

(to permit) is/are/was/were permitted — paspewaror, pasperm-
J/m,

(to tell) is/are/was/were told — Besia7, Benesm, Tpebosasm v ap.
She was allowed to go for a walk. EVi paspeiumiv mosry
0ry/IATh.

They were asked to come earlier. Ux rioripocusiv mpUHTH
PaHbLLe.

They were ordered to leave the hall. UM ripukasann ocra-
BHUTB 33/1.

C rnaronomM-ckasyeMmbiM B 4EACTBUTE/ILHOM 3a-
nore (Active):

1 C rnaronamu: to appear, to seem — ka3arscH,
MPE4CTaB/IATLCS, NPUYEM B Pa3roBOPHOW peun 6onee yMme-

CTeH seem.
He appeared to know her new address. Okasasiocs,
YTO OH 3HAET ee HOBbIN afipec.
He seems to know us. Kaxxercs, OH 3HaerT Hac.

Ecnn vHMUHMTUB BbipaXkeH rnaronom-cesiskoi to be, To oH uva-
CTO OnycKaeTcs:

He seems (to be) angry. Kaxercs, 4To OH cep-
ANTCA.
She seems (to be) unhappy. OHa, KaxeTcs, HecYacr-

JmBa.
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Mocne 3TMX rNaronoB MOryT ynoTpebnaTbcs BCe BUAbI
WH(PUHUTUBA:

He seems to be watching us. (Continuous Infinitive)  /7o-
XO)X€E, OH Habmrogaer 3a Hamy. (NepefaeT ANUTENbHOCTb)

She seemed to have kept all his promises. (Perfect Infinitive).
Kazasocs, 4TO OHa BbIMOJIHW/IA BCE CBOV obelyanns. (nepefaet
3aBEpPLUEHHOCTb)

2 C rnaronamu: to chance, to happen - cryvaiiHo
OKasblBatbcs,, to prove, to turn out (to be) — cryuurscs,
0Ka3atbCs, NPUYEM MOCSE HUX MOXET YNoTpebnsTbCa NuLlb
npocToi nHpunHuTMB — Indefinite.

Do you happen to know her name? Bsli, ciiyyariHo, He 3Hae-
Te ee umerHu?

He proved to be a good friend. OKazaszocs, 4TO0 OH XO-
poLLMi Apyr.

He turned out (to be) a smuggler.  OwW oxazasica KoHTPabaH-
JIMCTOM.

B pasroBopHoli peun to be MoxeT onyckaTtbcs, Npu-
yeM to prove xapakTepeH Ans oduumanbHo peun, a to
turn out — ans 0b6bIYHON.

3 [naron-ckasyemoe BblPaXXeHO rpusiararesibHbIM
C I71aroJ/1oM-CBSI3KO#.

to be (is, are, was, ..) + likely -
sepositHbivifunlikely — manoseposiTHbIV/ sure - BEDHBIY,
6e3ycioBHbM. Tlocne HUX MOXET ynoTpebnsaTbCs nb Npo-
cTort MHUHUTUB — Indefinite. Ha pycckuii sa3bik nepesoasT-
CS HapeYnsIMK.

He is likely to come. BeposTHo, oH npHAaer.

He is unlikely to help you. Bpsz /i oH nnomMosxer Tebe.

They are sure to come soon. OHH, HECOMHEHHO, CKOPO
npnayrT.

OTtpuuaTtenbHas dactmua not crasutca nepea likely,
1 nocne sure.
We are not likely to meet often. Mer Bpsa i 6yzsem BeTpe-
Yarbcs Hacro.

EXERCISES

Exercise 1. Open the brackets and use the Complex
Subject.

Example: He is thought (study) now. — He is thought to be

studying now.
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1. He is considered (be) a good musi-
cian.

2. They are thought (go away) some
days ago.

3. James is expected (make) a report
next Wednesday.

4, Steve is known (help) them to
solve a problem when they were in trouble.

5. Mozart is known (compose) a lot of
wonderful pieces of music.

6. The film is considered (be) the
worst of the year.

7. She is supposed (work) in the la-
boratory from2 to 6 p.m. tomorrow.

8. They are known (make) a new dis-
covery a month ago.

9. He is expected (manage) the busi-
ness himself.

10. He is said (be) at the customs of-
fice now.

11. The delegation is reported (leave)
Prague tonight at 11a.m.

12. They are know (live) in Egypt for a
long time.

13. He is believed (work) at an urgent
problem now.

Exercise 2. Open the brackets and use the Complex
Subject.

A Make sentences in bold type less definite and express
one’s uncertainty of the following.

Example: Do you remember his name& — Unfortunately, I
don't remember his name. — I don’t seem/appear to remember
his name.

1. They got married a month a month ago. Is she happy? — No,
she is not happy.

2. Does she have a key to her suitcase? — No, she has lost it.

3. We are so late. I am sure he has gone. — No, he is waiting for
us.
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4. She looks nice. — Yes, but she has put on weight.

5. I want to be introduced to Mrs. Smith. — Peter will help you.
He knows her well.

6. I have much trouble with my new washing machine. — No
problem. I know this type very well.

7. Does he work at the same office? — No, he changed his job.

8. Is she still abroad? — No, she returned two months ago and
now is working at her new book.

9. Look, this man is overhearing us. Speak more quietly.

10.The president has left his country residence and is returning
to the capital.

B Change your sentences using the verb happen with the
verbs in bold type.

Example: Do you know Mr. Brown? — Do you happen to
know Mr.Brown?

1. I'll visit Trafalgar Square if I am London.

2. If anybody knows him, call the police.

3. If you see Kate, ask her to phone me.

4. Do you know how to get to the Tower?

5. He'll arrange everything if he goes on a tour.

6. Does he know with whom Mary has gone to the Canaries?
7. Have you see them leave?

8. Can you change a pound?

9. Has she seen where they parked their car?

10.If I meet them, I'll phone the police.

C Change your sentences using verbs turn out or prove.

Example: He know Mr. Brown. — He turned out/proved to
know Mr. Brown.

The interview with the young artist was rather inter-

2 The prices at the hotel were reasonable.

3. The conversation with them was rather unpleasant.

4, The young man was a smuggler.

5 He was a qualified economist.

6. The student’s knowledge of mathematics was above
the average.

29



yupaBJIeHl/le AUCTAHLOUMOHHOTIO 06yqum{ W IIOBBIIIEHU A KBa.}ll/ICl)l/lKaLl,I/Il/l

tku

],, ¢ |

WMHOCTpaHHBIN A3bIK

7. Yesterday’s party was entertaining.
8. The weather in this part of the country was rainy.
9. The workshop was rather useful for economists, but

for managers it was rather dull.

10.I bought a book which was a best-seller.

11.This unpleasant man who found faults with me during the in-
terview was my manager.

Exercise 3. Make up sentences.

1) To be delivered, on Saturday, the letter, is expected.
2) We, the job, right away, are supposed, to do.
3) Was found, behaviour, Nora's to be suspicions, son.
4) Company, to be pleasant, was considered, Constance.
5) Today, to be announced, the news is expected.
6) Your team, to win, the game, was expected.
7) To have mode, our head engineer, an important discov-
ery, was known.

READING

Exercise 4. Read and translate Text A. Under-
line the sentences with complex subject.
Text A

Superconductivity

According to the prominent scientist in this country V.L.
Ginzburg the latest world achievements in the field of supercon-
ductivity mean a revolution in technology and industry. Recent
spectacular breakthroughs in superconductors may be compared
with the physics discoveries that led to electronics and nuclear
power. They are likely to bring the mankind to the threshold of a
new technological age. Prestige, economic and military benefits
could well come to the nation that first will master this new field
of physics. The phenomenon of superconductivity appears to
have been discovered as early as 1911. Before 1911 supercon-
ductivity was assumed to be impossible. But in 1911 supercon-
ductivity was discovered by a Dutch physicist K. Onnes, who was
awarded the Nobel Prize in 1913 for his low temperature re-
search. The electrical resistivity of a mercury wire was found to
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disappear when cooled to —269 °C. Absolute zero is known to
be 0 K. This discovery was a completely unexpected phenome-
non. A Dutch physicist found a superconducting material to re-
turn to normal state when a strong magnetic field was applied.
But at that time there was no theory to explain this.

For almost 50 years after K. Onnes' discovery theorists
were unable to develop a fundamental theory of superconductivi-
ty. In 1950 physicists Landau and Ginzburg made a great contri-
bution to the development of superconductivity theory. They in-
troduced a model which proved to be useful in understanding
electromagnetic properties of superconductors. Finally, in 1957 a
satisfactory theory was presented by American physicists, which
won for them in 1972 the Nobel Prize in physics. Research in su-
perconductors became especially active since a discovery made
in 1986 by IBM scientists in Zurich. They found a metallic ceramic
compound to become a superconductor at a temperature well
above the previously achieved record of 23 K.

It was difficult to believe it. However, in 1987 American
physicist Paul Chu informed about a much more sensational dis-
covery: he and his colleagues produced superconductivity at an
unbelievable before temperature 98 K in a special ceramic mate-
rial. At once in all leading laboratories throughout the world su-
perconductors of critical temperature 100 K and higher (that is,
above the boiling temperature of liquid nitrogen) were obtained.
Thus, potential technical uses of high temperature superconduc-
tivity seemed to be possible and practical. Scientists have found a
ceramic material that works at room temperature. But getting
superconductors from the laboratory into production will be no
easy task. While the new superconductors are easily made, their
quality is often uneven. Some tend to break when produced,
others lose their superconductivity within minutes or hours. All
are extremely difficult to fabricate into wires. Moreover, scientists
lack a full understanding of how ceramics become superconduc-
tors. This fact makes developing new substances largely a ran-
dom process.

Exercise 5. Translate the following sentences.

1. Recent discoveries in superconductivity made scientists
look for new conducting materials and for practical applications
of the phenomenon. 2. The latest achievements in the field of
superconductivity are certain to make a revolution in technology

31



F
CKHC*) YrpasJ/ieHre JUCTaHIIMOHHOTO 06yYeHHs U MOBbIIIeHUsT KBaTMPUKALUH
Myl

| =2 WNHocTpaHHbIU A3bIK

and industry. 3. Recommendations from physicists will allow the
necessary measures to be taken to protect the air from pollution.
4, Lasers are sure to do some jobs better and at much lower cost
than other devices. 5. M. Faraday supposed a light beam to re-
verse its polarisation as it passed through a magnetised crystal.
6. Superconductors are likely to find applications we don't even
think of at present. 7. Properties of materials obtained in space
prove to be much better than those produced on Earth. 8. There
are prospects for lasers to be used in long distance communica-
tion and for transmission of energy to space stations. 9. Addi-
tional radio transmitters let the pilot make his approach to an
airport by watching his flight instruments. 10. There seems to be
a lot of alloys and compounds that become superconductors un-
der certain conditions.

Exercise 6. Paraphrase the following sentences so
as to use a construction with the complex subject.

A.

1. It is expected Peter will establish a record tomorrow. 2.
It is known Mr. Evans will deal with the matter. 3. It is said Bill
prefers boating to swimming. 4. It is believed Ann’s son is a
promising physisist.

B.1. She was seen so: she entered the garden through a
side gate. 2. The phone was heard: it was buzzing in the next
room. 3. The plane was watched: it climbed gracefully and dis-
appeared in the white clouds. 4. It was heard: the taxi was giving
repeated signals down in the street. 5. Jimmy was heard so: he
shouted something to the people on the bridge.

Exercise 7. Read and translate Text B. Under-
line the sentences with complex subject.

Text B

Cooperation in Space.

A little over 70 years ago, when the idea of space flights
was considered to be the product of imagination, the great Rus-
sian scientist Konstantin Tsiolkovsky published his book "Outside
the Earth". It was supposed to be only a science-fiction novel
written by someone who lived and taught in a small provincial
town of Kaluga. Nobody believed the ideas described in the book
to be realized in future. Ears passed and Tsiolkovsky's ideas
proved to have been used in studying space and constructing

rockets Many pages of his book were devoted to mterna-
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tionalism. His imaginary spaceship described in the book was in-
habited by scientists from all over the world. Each one of them
appeared to be highly competent in the particular field, and all of
them taken together formed a friendly crew. Now the time has
come when this dream was realized. The cosmonauts of different
countries exercise mutual scientific programmes in space. Ten
countries are known to have been participating in intercosmos
programmes. This is really a wide scale cooperation when the
scientists want their individual programmes to serve the world
science. More than 20 satellites of the Intercosmos series and a
dozen of high-altitude rockets of the "Vertical" type were
equipped with instrumentation for scientific research designed in
different countries. With the help of Russian sputniks other coun-
tries develop weather forecasting, telecommunications and tele-
vision transmissions. Space research is reported to have provided
findings in the study of natural resources. The achievements in
space efforts are also connected with manned flights. We know
citizens of nine countries to have participated in space missions.
The international crews organize real scientific laboratories on
board the spaceships for making research in astrophysics, medi-
cine, geology and technology.

Exercise 8. Read the text once more and find which of
the following statements are false for the text. Correct them.

I.Tsiolkovsky lived and worked in Kaluga. 2.He was a
teacher there. 3.His book contained the information about a sci-
entist who worked in space.  4.ffis book remained only a sci-
ence-fiction. 5.More than 20 countries participate in manned
flights. 6.Rockets of the "Vertical" type were equipped with Rus-
sian instrumentation, 7.Scientific laboratories on board the
spaceships will soon appear.

Exercise 9. Fill in the blank with a suitable word from the

text.
|.Tsiolkovsky his book more than 70 years ago. 2.1t
was a , but it contained the ideas of future spaceships.
3.The heroes of his book a crew 4.His dreams
and now we can see international crews in space.
5.Ten  countries in intercosmos  programmes.
6.The in space are great. 7.lnteraational crews in

many fields of science.
(science-fiction; formed; were realized; achievements;
make research; published; friendly; participate; ).
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Exercise 10. Read and translate Text C.

Underline the sentences

- with complex subject active voice (3) ;- infinitive As an
attribute (3) infinitive as adverbial modifier (4)

Text C

Introduction to Banking and Financial Markets
A commercial bank borrows money from the public, crediting
them with a deposit. The deposit is a liability of the bank. It is
the money owed to depositors. In turn the bank lends money to
firms, households, or governments wishing to borrow.

Commercial banks are financial intermediaries with a govern-
ment license to make loans and issue deposits, including depos-
its against which cheques can be written.

Major important banks in most countries are included in the
clearing system in which debts between banks are settled by
adding up all the transactions in a given period and paying only
the net amounts needed to balance inter-bank accounts.

The balance sheet of a bank includes assets and liabilities. We
begin by discussing the asset side of the balance sheet.

Cash assets are notes and coins kept in their vaults and deposit-
ed with the Central Bank. The balance sheet also shows money
lent out or used to purchase short-term interest-earning assets
such as loans and bills. Bills are financial assets to be repur-
chased by the original borrower within a year or less. Loans refer
to lending to households and firms and are to be repaid by a cer-
tain date. Loans appear to be the major share of bank lending.
Securities show bank purchases of interest-bearing long-term fi-
nancial assets. These can be government bonds or industrial
shares. Since these assets are traded daily on the Stock Ex-
change, these securities seem to be easy to cash whenever the
bank wishes, though their price fluctuates from day to day.

We now examine the liability side of the balance sheet which in-
cludes, mainly, deposits. The two most important kinds of depos-
its are sure to be sight deposits and time deposits. Sight deposits
can be withdrawn on sight®> whenever the depositor wishes.
These are the accounts against which we write cheques, thus
withdrawing money without giving the bank any warning. There-
fore, most banks do not pay interest on sight deposits, or
chequing accounts.
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Before time deposits can be withdrawn, a minimum period of no-
tification must be given within which banks can sell off some of
their high-interest securities or call in some of their high-interest
loans in order to have the money to pay out depositors. There-
fore-, banks usually pay interest on time deposits. Apart from
deposits banks usually have some other liabilities as, for in-
stance, deposits in foreign currency, cheques in the process of
clearance and others.

1. to write cheques against the account — BbINUCbLIBaTb YeKU
NpoTMB CYeTa

2. to balance an account — ypaBHsITb, NoracuTb CYeT; cbanaH-
CMpOBaTb CTaTbW PacxooB

3. on sight — no npeabsiBneHWn (6e€3 nNpeaBapuTENbHOMO YBe-
[IOMNIEHNS)

Exercise 11.Translate the sentences. Define the forms
and functions of complex subject.

A

1. When labour is expensive, the quantity of capital demanded is
likely to rise.

2. Demand for imports is unlikely to fall when domestic income
and output in the country fall.

3. An increase in the wage rate is sure to reduce the quantity of
labour demanded.

4. Individual labour supply seems to be inelastic.

5. If a firm's assets turn out te-be considerable, it is more likely
to get a loan from a bank.

6. With every additional purchase the consumer's satisfaction is
likely to decrease although prices remain the same.

B

1. New methods of economic analysis appear to be required in
the near future.

2. One form of money or another seems to have been used in all
societies since time immemorial (C He3anaMATHbIX BPEMEH).

3. Most Western economies do not appear to have reached con-
siderable production growth due to tax cuts.

4. New bank services prove to be constantly coming into life.

5. Western economies are sure to have rapidly recovered from
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the 1980-82 crisis, the worst in post-war years.
6. Although such factors of production as capital and land appear
to be owned by firms, they are actually owned by households.

Exercise 12.Tranlate the sentences. Define the forms
and functions of infinitives.

1. Karl Marx thought capitalism to be a temporary type of econ-
omy.

2. The dividends to be paid out this year will not be high.

3. Few market economies are likely to provide jobs for all those
wanting to work.

4. An average worker in the United Kingdom is known to be paid
more than the one in India.

5. It is not necessary nowadays for markets to be located in any
particular place: the sugar market and the cotton market are
considered to be not geographical locations but a number of
conditions which let buyers and sellers work together.

6. To have inelastic demand is typical of all essential commodi-
ties and services, for instance, food and health service.

7. If the price of oil rises to $40 per barrel, it will be high
enough to make oil shale mines economic.

8. The economics course to be offered to students is to bring
together microeconomics and macroeconomics.

9. The global competitive and technological forces are too pow-
erful to let political regulators replace market practices with
regulatory ones.

Exercise 13. Translate the sentences into English using
the Infinitive.

A

1. MpegnonaratoT, YTO peka TeyeT B 3TOM HanpaBiEHUM.
2. ToBOpAT, Yy Hero AeTcTBo 6b110 OveHb TpyAHbIM. 3. KaxeTtcs,
OHa cAenana 370 cneumanbHo Ans Bac. 4. MHe 6bl XOTeNoChb YTo-
6bl Bbl Mpeanoxunu P. cBOKO nomouwb. 5. Mbl HE oxuaganu, 4To
obcyxaeHne byaeT TakuM MHTEpecHbIM. 6. Bbl BO3bMeTe MOKyn-
K1 € cobolt unm xotenu 6bl, YTobbl X BaM AOCTABUIU AOMOW? 7.
He nossonsitTe el untatb B nocrenu. 8. Yto 3actaBuno ero cae-
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natb 3T0T Wwar? 9. Hagetocb, 9 He 3acTaBui Bac AONrO XAaTb.
10. F'oBOpsAT, BOAOMAAL!I O4EHb KpacuBbl.

B

1.loBOpAT, OH yCTaHOBWUN elle oauH pekopa (apyron). 2.
M3BECTHO, UTO KOMMaHUS Celyac peneTupyeT HOBYIO Mbecy. 3.
Okasanock, 4to Bill xopowmnii nepesoaumk. 4. ManoBeposiTHO,
4yTO OHM pobepyTcs Ao CTaHuuu BoBpeMms. 5. U3BecTHO, 4TO ae-
Neraums yxxe Bblexana AoMoiW. 6. MonaraloT, YTo nepeBoa yxe
HanevaTaH.

Cc
1. Kazanocb, oH 3abbln UCTUHHYIO Uenb CBOEro npuxoa. 2. Ero
CYUTAIOT OAHMM M3 Haubonee onbITHLIX cneuynanmcTos (No UCTo-
pun Teatpa). 3. Mpeanonaranocb, YTO AOKIAAYMK MPOYTET Jiek-
uMto 06 3IKOHOMUYECKOM Pa3BUTMK CTpaHbl. 4. Kasanocbk, He 6bino
HWKOro, KTo ©6bl pewwnn 3Ty npobnemy. 5. Kaxercs, oH 3HaeT
reorpacdmio nydwe, Yem gpyrme. 6. Ix nnaHol, BeposTHO, B By-
ayweM mnsmeHsTcs. 7. Mo-snanMomy, s BaCc He noHumato. 8. MHe
Ka)XKeTCs, 1 BaC HENPaBW/IbHO MOHS.

Exercise 14. Choose the right variant.

1. The rain seems . Call the children in. I don't want them
o a) to be, to be got wet through

b) to be starting, to get wet through.

¢) to have started, to have got wet through

d) to have been started, to be getting wet through

2.The English colony, Plymouth, in Massachusetts, is
known ___ by the Pilgrims who arrived on the Mayflower in
1620.
a) to be established
b) to have established
¢) to have establishing
d) to have been established

3. Look, they are likely __ to the news. They seem ___ .
a) to be listening, to be excited
b) to listen, to be excited
¢) to have been listening, to have excited
d) to have listened, to be being excited
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4. Heissure ____ a liar. Everybody heard him ___ thatin
SO many words.
a) to be, to say
b) be, say
c) to be, say
d) be, to say

5. When I came in, the discussion seemed __ to an and.
They appeared ____ patience because they turned out ___ for it.
a) to have been coming, to have losing, be ready
b) to be coming, to be losing, not to be ready
c) to come, to lose, to be ready
d) to have come, to have lost, not to be being ready

6. Jack, you seem ___ too fast. The speed is already 100
miles. I am afraid. I want you ___ the speed till 40 miles.
a) to have driven, slow down
b) to drive, to slow down
c) to be driving, to be slowing down
d) to be driving, to slow down

Revision
Open the brackets and write the correct form of
the Infinitive.

1. The doctor wanted the patient
a) to examine
b) to be examined
c) being examined

2. There are a lot of people who expect your country __
the same as their own.
a) not to be
b) not being
c) not be

3. Did you hear the chairman ____ an announcement?
a) to make

b) making

¢) be made

4. When I was waiting in the hall, I saw a girl ___ with a
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file in her hand.
a) came out
b) to come out
c) come out

5. Nobody expected the president of the company__ to
the party.
a) coming
b) to come
C) come

6. Isaw him ____ round the cornerand .
a) turn, disappear
b) to turn, to disappear
¢) turning, disappearing
7. She noticed the children____ behind the tree but pre-
tended to see nothing.
a) hiding
b) to hide
¢) to be hidden

8. I want his article ___in November.
a) to publish
b) to be published
) publishing

9. He did not expect her ___ about it.
a) to be asked
b) ask
¢) interrupt
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